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The Null HypotheSis: (#is s mportent)

We saw a distribution in our example of 214,

W think we caused iT w/hﬁ Some condilim. 77)& }’)m//
)\ypdﬂ)effs { thal” we are wrong - it was just a ranolom
Variatiov. To delermine [f that s /:'Ke/y/ we  Compare our
—Xl t/a/ue 07[ /78 To a 7“45/:9 07[ Va /148_(.
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Vﬁ/”f AM a Percentage Points of the Chi-Square Distribution
F rabﬁ'él/lzl~ Degrees of Probability of a larger value of x* - s
/ Freedom 0.99 0.95 0.90 0.75 0.50 0.25 010 L oos J o001 }
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https:/ / www.fourmilab.ch /rpkp / experiments / analysis / chiCalc.html

to defermine our Probability of 0.)8.



L . -
T/fn's meang There 1S a /oraéab:/ify of 01y thal our
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That Number ofses jnolicate (t is net likely to be rondom.
However, #he result 1s not olefinilitive ehough to Veject the nul
hypaﬂt’f-;(. It may he true that flies  prefer effano/~ hat I can't
be certain. We /ike To see P-Value¢ < 0.1 or even O.0os tTo reject

the null /L///ooﬂe\s:j.

I—t iS hot o lnear Fanction What if our olistribution
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siofe. Caleulate X* anod the ‘pra/éaé,//fy of The null
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